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(1) Zdfri(v) VITHPOEREICEIY v =10 %
(2) Bl A58 (m)
1
al= 2.0 = 1.25
100
m = a1 X SL = 1.25 X 24 = 30.0 N/mf
Xo>T m = 30.0 Nmf
(3)/kEA L FEE(W/C) m = -16.6 + 26.7 X C/W
W/C = 26.7 ~ (30.0 + 16.6) X 100 = 57.0 % = [60% (_E[EfH) ]
W/C = 57.0 %
(4) BfKE (W) ERRES ([ ot@ W = 158 kg/m
(5)HpNrE A FE(C) C =W = (W/C) X 100 = 158 = 57.0 X 100 = 277 kg/m
Cv= C + 2B = 277 + 3.02 = 92 L/m
(6)Zz=5 8 (A) A = 4.5 % X 1000 = 45 L/nd
<7)${L*H'E’M‘E<G) VTHOERKIZELY »EAFE = 0.648 mi/m EFEER = 60.0 %
Gv = 0.648 X 1000 X 60.0 = 100 = 389 L/m
Glv = Gv X 30.0 % = 117 L/m Gl= GIvXRWEE = 117 X 2.70 = 316 kg/m
G2v = Gv X 30.0 % = 117 L/m G2= GYXFEWEE = 117 X 2.70 = 316 kg/m
G3v = Gv X 40.0 % = 155 L/m G3= G3vXEKWEE = 155 X 2.91 = 451 kg/m
(8) AL HE# = (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 684 = 316 L/m
Slv = Sv X 60.0 % = 190 L/m S1= SIvXEWEE = 190 X 2.64 = 502 kg/m
S2v = Sv X 40.0 % = 126 L/m S2= SoyXEWEE = 126 X 2.67 = 336 kg/m
(9)EA= (s /a) s/a = Sv + (Gv+Sv) X 100 = 44.8 %
(10) B iEFn A& (Ad) Ad = C X L = 277 X 0.7500 % = 2.08 kg/m
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